. TR SV UBEER ~40RULEDEFVIRTHEVCARITOBREER (BIE2MLHYEDER) ~ 2014.03.16 TK
T
AE—FERGE (F1EE (1) A 2—/\LE BE1E  tkex7x 1X=600 £0400+#) 35" 2°00=6'00
(2)  EFHH/ET3 Y E0km FO700
473 E2RRRE (D A 5%—/NLE BE1[E  tkmx7A 14=530 ¥ 04 45+8) 39 1"45=>5"30
(2)  EFw=T a4y #EH20km  F0O7 00
K838 BRpEN 2mAb (1) R—RFE B 1[E  Skm 183 LUINZEHIE 03 36LUA
s 2 HEHwETay @iOkm  F0O7 00
TIRE— R+ EANERGE [FEIBRRE (D A4 —/NLiE B1E  Tkmx7A 1A=5230 ¥ 04 45+ 39 17456=5"30
Q) R—ZFE E1E  10km ¥04 15R—X
- @)  EFHH/ET Y EAOkm  FO700
5| g [RE-FEREE |F1BRE [ A>5—/ULE B1E  Tknx 7K 1K=600 ¥ 04 05+#Y 37 1756=600
Elf 3.95 (2)  EFHwE=T a3y #E0km FO700
5 ERBEN 27A 21) R—ZE B 1E  5km 205 LUR%E B F04 00LA
2738 2)  EFREK=ETD3S E10km F0O7 00
acetl [FANBRGE FoRRE [(1) ~R—2E B1E 10kn 04 30R—X
(2) JEFHI|ET 3y #E20km F0O700
4o (RAE—FEEHE BB [(D A2k B1E Tknx 7K 1A=600 FO4 15+ 39 1745=6"00
35 (2)  EFH=ET 345 E20km F07 00
BRBEN 27 §1) R—RFE B 1E 5km 225 LREBE 04 240K
x% 73 2 ®HHKET 3L @IOm 0700
o |TANBRGE E2mmE (1) ~R—XE W 1[E  10kn ¥04'45R—Z
(2)  HEFHwE=TD a4y #EH20km  F0O7 00
2 s gm|RE— FRAME - BANRRMER, SHOILTLIVILY, PEMEETISAEIAT FL—= Y 256
= (Xa197° TOHMKEY ) OFH T3, 3.25, 3.5 DBREREAEL., QEE] ORBERMEZENLTGEEITBET)
= #73 4 73.25 4 73.5 %
L— 2 4 @R 1) R—RFE  40km *04'35 X 04 58 *05 18 108
9 . (1) BBHED 5 B0k | *m700 X070 xarw [ -
= || 8= P — 2-1) R—RE 30km *04'25 x04'45 *05 08 103
18 é{; (2-2) @EFHEET a5 E60kn *07 00 *07 00 *07 00 —
= || E P G-1) R—ZGE 20km *04' 15 x04'37 ¥ 0458 100
E L—Z 258 : —
@ || W& . (32 EHKk=>a7  @40km ¥07 00 0700 ¥0700 —
5 L—2 13 4-1) R—RE 10km X004 05 X 04 26 *04 48 96
. (4-2) EFHEES Y E20kn *07 00 X007 00 *07 00 —




